)

Gl




(BX SAS H-go|th,




3. oS I%oA] LAHB = /BAC = 90° & A
o

e 7 gL AL 5
III
B S C
—— 16
@O AABC o AHBA @ CH= )
G)AC: AT =52 @ AH =4

® /BAH = /ACH

. ‘
ABAC @ ABHA(AASES)
AB:BH=5:30°|2&
F2H=5: 3 o]t}
~AC:AH=5:3




4. /A 7} AZF AABC o4 AHLBC € ©f, AAHC 9] Ylo]& Lotoiz}.

i

>
> &= 16cm?

AR’ = BH-CH
16 =2x CH , CH = 8(cm)

- (AAHC 9] Yol)= % X 8 X 4 = 16(cm?)




o} o)Al AABC 00 ADEF ©]t}, x 4y =2

@ 14cm @ 16cm ® 18.5cm

AC:DF=AB:DE°|E& x:9=15:10=3:2, 2x =27
x=13.5

BC:EF =AB:DEC|E2 12:y=3:2

3y=24

y=2_8

L x+y=135+8=215




ZIAZYE ABCD oA BE & HE= Aoz F2em
St A C7F A F o] 2= H2 Flo|th
EF 9] 4o]=?

AABF @ ADFE(AASS) ©|B& 6 : 2 = 10 : EF 6BF = 20

— 1
- EF = go(cm)




7.

the 192 AA2+E ABCD oA tiZH4d BD & i
A C7HAE o =% ¢ Aolth. PQ o] Aol 7-5ha?

@ 6.5cm @ Tcm @ 7.5cm

@ 8cm ® 8.5cm

~&B

ofl

AABP = AEDP ©]|E 2 APBD + o]5HAIZIgo| 22 BQ =
10cm ©]t},

APBQ £} ADBC ©f|A]

(PBQ = /DBC, /PQB = /DCB °|B2.&

APBQ@ADBC (AA H-2)
PQ:BQ=DC:BC°oP2PQ:10=12:16

. PQ=175(cm)




8.

& 1394 AB = 6cm, BC = 8cm € Wi, AAH2d DBFE 2
HO| Zol& FohH?

A
/
' B
I
1D
GCI\II_I L]
\
\alllis
~_ :F /// C
~=-8cm~
24 2
@ 970111 @ 1—7(jcm ® ;cm
@ om ® S om

et

B

AADE ¢} AABC oA A= 3%
(ADE = /ABC o]|B&2
AADE &0 AABC (AA B-S)
Aol g e PolE x
AB:BC = AD:DE
6:8=(6-x):x
3:4=(6-x):x
3x =24 —4x

24
N

(cm) 2} ofH

X




9.

ohe 2ol £ 9] e FAA

3

AABC 2} AEDC o]l A

(B = /D, tACB = /ECD

.. AABC @ AEDC (AA H2)
AB:ED=AC:EC©°|BE& 2:x=3:4
3x=28

.x_§
T3




10. & 292 A9 ABCD o 214 ¢ 7F ¥ AB 9] $4 H 9
QEEEF & dL Aoz st L& Aot} /HIE = 124° < 1,
/HFE 2] 371%2?

wll mII >

@© 34° @ 48° ® 56° @ 62° (@)73"

~&B ~

(HIE = 124° ©]B.2 /ATIH = 56° ©|t}.
/A =90°, ZATH = 56° ©] 2.2 /AHI = 34° o|t}.
/GHF = /C = 90° °|2& /BHF = 56° ©|1 /BFH = 34°
o|c}, whebA
180° — 34°)

x = (HFE = /EFC = ( =73°




